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). P. Code: 24894
| ¥urafion: 3 Hiurs Tatal Moy - ®0

ALB (L Cuestion e § s CompulsBey.
(21 Allempt any three quastions vol of remaining Tive,
(31 All guestiens carry equal marks.
(4} Assume Suitable dar, I reyuived and stat i clearty,

=
e | Atternpl eny For - § A 2l
2 What = muatched lter? Ment 111:|' [ rmp:rr es of Malched Filter, P
B Stale the significance S minimizm distince black cade. F’ o
& Describe bosw channels "-L:-'.n iz cjazml'-:d Brigtly 1,:--'.;..Ii.-. ., I'
o ITow is spread spectrem signal |:]|LL-:1-:|1| fiam gormal sipmal? 'l.
¢ Expluin thie folluwing ternis in disital m.:.r‘ulzm.:,n ai:::’._,h"ﬂql..l: : Probability of .
ecror, Power specing, I”.imﬂmdm ::I'I'-_v:ﬁph " . - ~=c
gy o : i
(3Ma? 4 Cxplain the luliman Sncodisa procedite, A.discrels mcmnn‘lcsa stree L0

{DM5) has five symhols with probabilitios to i1 u-_me a5 drscnhu;] i Tuhle:
|*‘|'~'§1'|L I- : .:’:" M . .:"':1 : ..‘-";.1 | X
Probahility *| 0.4 ", 019 06 [@a5 | T |
: P g S
Censtruct ¢ Hoffrman code for X and calvulile the etticiency of the cade
b Wehydo we e o ise [hs: lines e I‘urrndh State the imperlant prapecties ol 1)
r ||-.- . ﬁd'i“h H

O Mad as Sketoh PSE and QPEE 'sig,nals far the fupur Bit sequence [00]EQI0, What are 10
: e similacities hetwedn them? How do they differ ta each other?
b A palar NRE wavetoriy bas b be reccived wilh the help ot u rmatehed filter. G
Ty llche - hinari [ 1§J~,,|.ut-u:n.¢_=d By a rectungular positive pulse, Also, binary wero
iz Tenresced IJ:.- L rmrwgd ae negalive pulse. Determing the Dnpolss TEE[HTED
ik the marched J_th:r.,_.-’clS-:l, cketch it.

hod a Thraw the Block diagram of binary Frequeney shalt Keying {BPSK) pencrarion, 10
And also explain the Spectrum of BFSE. sianal
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0. P. Code: 24894

v The Marly checl matric of particular [74) losar Blnek codie js piven by (9

T G S - E R
o 1 1 .0 158 9 %
N Sl M o i S 1 |

i, Fitel the generator nerx (G)
i, Timt all the codevecioms
Hi.  Whal s the minim L s stance fetween the cods veetors?
v, Hew' miany errara can be ch:ttc-t.r#” Hr:-w Py errors can he
cafealedd &

QM a Forthe systematic (7, 4 crclic sode, dcte;mz:r., lhi: }_n:ﬂ, rator It and B

parity check mateix Gien -E"-...-I'l-,,.-]“"lT'.:IT i [ﬂ 2= 1,

i

b Generslor veckors foila I-':_I.L.‘:l'j: ’3 qm?uhi';uiqnui_m';{*ngjr:l:.a Fi; 1
gl = 1.0, ];g»e— i l_.l.t'.i'J il C SR
i B -:nL i leEH::L. o
. - Dirdwe [I!'I'_']lH dlapr"am
G N . '
b t:{;p]r.un MR FSK '-'-II:EI. the |‘||:||1|}1' tlf-[]-:n'n i, 10
o i._ : Hlaek diagmm
R T bp-sa:[rum -:ﬂifr-.-!’ ﬁrﬂ&h
A J:lﬁn.lmdlﬁ O 5 MTISI{
r: Exp]am with h1ﬂ‘i.]'h.!i|.ﬂ:g[ﬂ1n Ijl.EE-‘-_-[JSEﬂL.I:I'l..,L spread spectrin technigue, L
> ' r TrtErEETEE A b e
I.-;‘:!: ﬁ‘. ;\- -. 1
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LR Code: 16205

5 lwira) [ Total Ml hs: Bl

HH: 1 Question oumber 18 compulsary
1) Solvzany three guestions aut aFthe somaming five quesiiong
A3 Trob] fowr quesations 1 ke aEemnphed,

2} Fignres bocthe right mdizate full maks -
QLI ab A digital filter his Following rranafer Tinclion, Ideatifi the type of filler and justife it IS
o — l i,
ey~ 1+:8z"1
{l:I:I Ll.li‘l:lpd.l'l: FIF and 115 ﬁ|l|.-':|'_ ; “:'E:l

fe) What Inmulticate siponl processing? Thscuss dmportant applicatinns -:_\f»multi_-'mTc signal
Mroseszing. : = ;

(d} xind = Adt{n)+3din—- 1)+ 22 (m - zj-e, .i-:l'[.n — 31 is'n-.six;pninf*%gquﬁﬁc;-.
{F) Find p(m) 8 P (s = W™ XU Gl IE @K = XK —3) | find g{n).

. . - i - s . v, e L"-C
Q23 (4} Compute DFT of a sequenes f(n)—4 12, 2,1 1,2, 25 using M-mf:ﬁlg|'inm_ Compars e
conaguiaiionl Wnlp[:;’if‘_-."ﬁf:ﬁfﬁ}:'l with DET far ﬂ]ﬂ.Ewﬂ'Efﬁigi?U]._ {100

(b1 Desian FIR Glter using frequency.savipling technique for the fllowing specilications. (L]
Hs ['e'f'"' ) =pide: p = a i

b

Hofeh) = 2o 70 etk ;

B~

el

Q3 () Derive composita radin DICEFT tlowdragh. R N-6-3 #2 (10
(bi Dizzign a digrital Butterworth L. g'um-m-t filter wsing Trpulse imvariant technique by (1}
taking T —lsee to ﬂaiis-'T'g [eHowing speci featinn
DIOTE Nl e™pe - b o O30

P S My 02, Uk TR

Qﬁj_{a}"ﬂﬁ: trangler funcion fm'n:lim:;:que tme causal syatci s piven by {1y
. L=gT2
Hiz} f-aEr=t_ang="
i. - Diraw Dhreet Form-land Direct form-01 renlizntion stoerure,
i5, Tannw cascade and pacalle] realization

iil. Find irnpulse responze af the sysiem

Turn Oy
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2 Q.F.Cade 15205

thy i x(m)= {2,3.4.5)
o Find IET of 20n) using DITFFT
. Tty = xin-1}). Uind OFT of wn) £
it MY = &in) + v, Find OFT of mir] L:i:lf_.'ﬂb-u»fr'-:: regiilts, e, 1

05 ) (2l xlny- 1 1.2,3,2] und hinj= [ 1.2.3) =, ' o I
v Lind eivcular convaliion between sio)- I]J1d. }f-n{_,rtmn titii: demain and I'n:tl.mn-:ﬂr
doriain methad, : '
it,bind linear convolotion henaen .EI_"'I':I wnd ! *1&’41]

lii. Cormpure cirsular vonvelitiveund ]mg.,;r mmlrw':ulmm r-r-smta L,.-:“.- |T|"||e'r||f on it

thi Laxplain the effect of alinsing fn- |r|:|l:||.|]'_-.|: 11'|'|."|”||]-|_t4|_|:|-||'"rlluu (0%
e} MK){26, -2-32j, -2 -3 2_1} r|-\,':a- r-;]lr‘J L-n-i"l.-‘_.ll_]‘l:']:'['iill.lilf:-l ul-.n = 3]
L5 {21 BExplain the process of cl-:umaunl'i'mlh-ﬁaquau:’_-, spgn:m:m. i { % {354 =20)

{h) Explain in derail hyes t-!le:ct of finire 1-.1;-:-!;:1 Jergilh l:H'-._cti-.aH elizrival $ilters:
(e} Explain sub h,uu;l coding ol :.pm:h auwd] 5
{ilk [mpuolze re:.,pum. -:‘!-I_-.ll..._l.:: FIR ﬂn:r 15 J'.IIEI_J —~t s 'lj U iz Lm.-m- Tﬂ ase pelization striclure.
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Q.P. Code: 27200
[U3 Hour] | Total NMarks: 80]
LB,
1) Oeestion Mol is compulsory
lt) Astenypt any theee from the remaining questions,
G Atlerapt the foliowing: [20]
a} What are the performance parameters of computer netwosk”
bl Fast the Fentures of WLAN: =
e} Explain the conzept of connectionless and Connesticn oriented protoce! with
example
dp How MPLS 15 different from traditional routing
\ SO
Q2.
#) Compare between bridge and router. [0]
By Diraw and explain field of 4 daapram. |#]
e} Derive the expression of elMiciency o ATOHA, [&]
3,
a1 niTergnt hebacten FUOAM and TOM. [4]
by Explain in detail e phvsical medha used for computer commuication. [&]
¢) Classily muliiple-actess protocols. and explaln the CSMALCD 18]
4.
a) Classity unicast routing protocol and explain the working principls af RIP, (8]
b} How link srate routing is advantageons than distance vector routing. [6]
¢} Dhscuss the working Principle of HFC [6]
5.
2) What do vou mean by socket? Explain Network Socket Pragramming, 17
b} How LDP is different from 107 for data iransmission” 171
@) What s the cole o SMTP in application layer? [¥]
(a6 Write u short nores on: |34

al TP Orverview
1) Metwork lopaloiies
c} Congestion Coniral

-
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Q.P. Code ;11989
[Time: 3 Hours) | Miarks:80]

Plaaza check whether you have gul the right quastion paper.
MN.B: 1. Questions number 1 s compulsore
2 Solve any three questions from e remaining five gusstinn:
3. Diraw neat sketches wherever resuired,

Q.1 A Cornpiare plasma, LED and LOD displays?
In T whry AM s proferred aver FM for pictuse smodulation? . ;
Whiat ase the advantages of using digital techrologies for lolevizion system?

Daplain comoatibilily considerations in TV systami. 7

b R

L B
A Lhogm

Q.2 & Explain Interlacsd scanning with & neat ifuaramrand alsex meplain how 1t s hetter than sénuentizlacanning? 10
B Explain working of image erthicon samera fibe With s noat sketeh. Alio state it diaw oacks? in
G.3 A Explain iz detzll Disect to Homa TV [QTH)? 1
B Espiain the need of chroma sul sampling Explain wapious dypees, ; 10
i - ! - W - =,
. A Jes iy
a4 A Discusy The following lerms WLRLT. edlar transmisgion? | T 10
il Luminance, chrominance and saturation; gl AN
i} Additive and subtractve ml‘;lr:-!'il'.lﬁ'_ e - :
B Expiain the toflowing teirfs in ralatho® fo digizal T, ; 1o

I} fspoct retio, () Viewing distance and angle i} Digisizetion, ©
0.5 & Only {R-¥] and {B-Y] calor difference éign_.ml_aln:.ung wnith liminance sighal Is choszn for color trarsmission and 10
§E-¥] |s not trensmitted justife? ; g ! '
B Compare NTSC, PALand SECAMTV standards? - = 10

",

Q.6 Wirite shortnotesan’ * 5 20
L High definitiens television (MOTY) | ; ;
' 2 Chromaticity dizgram 5 : Jj_..-.":_,.z?-'?.-_h_._.__’
3 PMUSE system . iTas’ 1 , it L
4 Cotor killar reit L R T
- - T R A . i
o i
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T LATE) WY cRsGL) DE-') 15heh?

Q.P. Code: 25709
{3 Tlours) Todal Marks: 80
N D) Omeestion Mo | is compalsary ; : :
i) Adlempt any three questions out of remaining (ve questicng, =
13 Asaume suilnble data whenever peguired bt puarifi the sume,

41 Assumptinn made should be clearly staled.

Q.1 (a) Definean operating systerny What are the d [ff[-rmhfd}?;:t:nﬂé- of 'a f L-,-a_;j- b (s}
(b} WhaticaPioces? \What are the contunts of & I"fucesa Er:-l'u_l'l.'u l'!-lm;l:? et (5]
[e] Whatare the different features of aﬁea| Time |:|5_.- ol T . IS]
[d] ExplainSegmentation s a :!‘.,"Eﬁ_'u:fr W r_-..1_.L| 1@H¢mﬁﬂt gl-_ﬁ.gfﬁl:nf. v e pria - (5]

e e
&

Q.2 {a} What iz Preemplive and fH:ln-F’r'l.?_rn ;-f v EF'I._.' imEduIIr'igP "xpldmram_.r one- LI-‘IJ [10)

scheduling algorithm ingetsl: . = . o 3 o L
|:1:|} Explain concept of |- :||:|¢.5"r' L||:|'i:-: uperaﬂhg H;ﬂ:pﬁ'\ o ;g L ; it . {1“]
: A --|,: ‘___. B -.-.‘-C' a:_ q'-'-"' -.'-,
0.3 [(a) Whatlsa Dn'a-:lll:lck'-‘ ﬂurat:am-{hﬂhu cq_nﬁﬂf‘&m rm o dﬁgigllm:k £ a_-,.:_;,;”ts- {10
{b) Caplain -?.-'-'-.II:} Erzhl l:-:l.-'.l.-cp:.rrnarl.age Ei-'!-'ll:":-'ina [:.5, ey = A, - (10}
o 325 i = -._"! b ! W7 i
Q.4 (a) Explaii, Glearly E'E'marlu F'-1|-|r1|cr Eru.'l cofice ptof Virtuzl mem-:-r,,r i an 05, {10)
{b) Whitare L r 'I’I‘ETEH': Il-'-SIJF_‘Fl'n:I bz l:n:rns'iu:lE rEu:I In EleJw_lnF in a real time 05, (10}
: L i
0.5 ([a) Explam -:nr*.’t:,: mu-j :lul:l non: |:|:~r1l:-,g .mus, file allﬁta fnes bechnigues in an 5. {1q]
. i
[b] - Wral _Ib the kérnel oi" q-. -EIEF‘ _.C_L,e- F Lnr-,ﬂde:lnhllthl' kernel and microkernel {10]
; :-h;hte-:tm i &h -?Jj B e v
q,ﬂﬁ -talh_.: Cnmpare and % ru-.tra_-¢ !._In[g agd 'u'."ndgm -:-peratlng syntem, {10}
b)) s a n-.':ltE nnﬂ_‘lemm man Jgé‘ment_y_] an 0% {10
o [ ol : F _-\. : .;_.
: .__., ) ; _*-. G ’f‘." ki - 1 j _-.
S SR B A 5 é_,--“-"—""-':.m
=1 e i . - : % .
et g - \ o : .-‘. _-.._,;-' 3 .:':‘l-.:"‘
i \ E 3
Woh W
1.._ - -. ..-.l_'.-'
- ..,I_.-"
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Q.. Code: 16056

Time: 3 Hours -~ Marks: 80
Pleaze check whether yon have gof the right questinn paper.
1) 0. Mo. 1 is campulsary,
2] Attempt any three out of remaining f-::u_r_lquesﬁ;:lns-

3) Assume any suitable data wherever reguired but justify the same

Explain the Need & Effect of scaling, 20
Find resistance Rn for nMOSf slectton mobility p=560cm?-sec =
= 1.0, en= 3.9 ¥B.85x10° Fiam, and Vee=3.3 Valis o
Vin =07 Volts if W=t0um_ L= o Bum |
€ Explain Latch-up prnt}lem I CM@E ar‘l-:i h::w-.u'.f‘chan be avoided Il,.

9 Draw the circuit and sxpiain the working for. bidirectional pad

a Design CMOS -'in~.rertr.=:r such that the - switshing threshold is Vn=12 10
W, with th folfowing device pﬁr,arn Bters =
s . "NMES "'.-'r|Ur- 0. gV = pn'ﬁn\--—ﬁﬂ pAne

| ”F'.ﬁ.i! s ".-qu.;.—. —I:J’Ei ".-’ " HuCie= =30 pAMNE

Assuyme ‘-.-fm_'g— 4. AN an-:l =g g

s

i

L Crerive E.‘{presslun'fur c:urrént;;n saiuratmn redion from that of the linsar L

'regu:ln c:u;ren* equatu::-nxajsa ﬂxplam the effect of subistrate potential
[Bady Ef‘f-E.‘l:tJ on c:urrent and alsn discuss the effect on overall
peﬁnnnan-:e af thg dewca

E - E:-:,!:Iﬂ.'-,l-.il'l the- Eff:av:t tlf scallng on interconnects and comment an 10
E i peﬁt}rh'lantﬂ o VES! ::In:u|+
B Draw thie schemauchf“ carry look-ahead adder Explain how speed can 10
: balmpr:}n-éld?_

a e : = 10
F= a.b+cde

Consider the iogical function as given above
i} Dosign tl:.e CMOS logie gate that provides the furiction,
il Is it passitle to find an Euler graph for the sircuit? If so, canstruct
: the graph and also it to perform stick lave fayout. If not find a
Layout strategy for the GATE
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QP .Code: 16056

B Forthe funciion 2 — {4 + BYE + #3001 + 1) 12
{i) Doming CMOS circuit (i) Draw an equivalent-circall for
damino circuit by using equivalent transistor sizes with WL=30/7

(both for NMOS and PMOS) G =
a  Explain the Latch-up problem in‘CMOS with neat diagram also give

L

the different msthods to overcome the latch-up,
b Compara various loads used'i i Inverter circuit. Draw proper diagram 10
and compare  different parﬂmet&rs which.: LhE‘lI‘EI"'[EEIEE.' gach type of

-

Imverters

Draw the Schematic of E._-._Lrans'r'stcv? _Eﬁﬁ.hﬂ-cél.r alsa the draw layout for
tha same T “ ;

a  Explain the ﬂnck gene'ra;j:‘:-'h and ﬂil“earent t_-;rpi'es af. n::l'::c:-:irg schemes 10
for VLSI v:lrcL,ut Explain *.-‘anl::ys Tssues of f:Im:F-: distribution? Explain

ol

how they:iare ‘.;'lgdr&ﬁﬁed"? e A

b Huw‘the ::rc::ss talkin multmayeusyntem is mudnled?

¥

Explam,ﬂhﬁrge ﬁhar‘ng pmhiam and gwe the ‘salution
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